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A MDL | ¥ e
RO CR | RA | EE PR RE AR PR AR | AE | TR AR ;_’;fé’
kiR — C | 281 | 279|276 | 280 | 278 | 276 | 286 | 284 | 281 | 281 | 279 | 276 | —
pH & - — | 82 | 83| 83 | 83 | 83 | 83 | 83 | 83 | 83 | 83 | 83 | 83 [75-85
e — |mgL| 59 | 58 | 56 | 65 | 64 | 62 | 60 | 58 | 57 | 62 | 6.1 | 59 | >50
4258 10 |mgl | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <3.0
itz 5 8| 15 |mgL| 26 | 27 | 26 | 27 | 24 | 27 | 29 | 28 | 30 | 26 | 27 | 26 | —

pRea k1 10 |mg/L | 179 | 110 | 124 | 438 9.1 54 | 172 | 136 | 6.0 7.8 6.7 6.8 —

001 |[mg/L | 0.08 | ND. | 0.04 | N.D. | N.D. | 0.03 | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. —

¥
Vi 001 |mg/L | 002 | 001 | 0.01 | 0.04 | 0.03 | 0.02 | 0.02 | 0.02 | 0.02 | 0.02 | N.D. | 0.01 —

] 007 | mg/L | 0.07 | ND. | N.D. | 017 | 0.14 | 0.08 | 0.07 | 0.08 | 0.08 | 0.08 | N.D. | 0.06 —
L]

LAEE®% | 0002 | mg/L | N.D. | N.D. | N.D. | 0.004 | N.D. [ 0.002 | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. -

LAEE® | 0005 | mg/L | N.D. | N.D. | N.D. | 0.013 | N.D. | 0.008 | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. -

=% FE CFU/
® R 100mL

<10 270 | 410 | 340 | 750 | 110 | 120 | 120 45 120 85 <10 | <10 —

Fylkdfg| 1.0 | mg/l | <1.0 | <1.0 | <10 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | 20

RN 1 009 |[mg/L | 046 | 0.54 | 050 | 0.66 | 0.84 | 0.56 | 0.50 | 0.52 | 0.35 | 0.43 | 0.69 | 0.43 —

27 e 05 | mg/L | 0.6 0.7 0.6 0.8 0.7 0.8 0.8 0.6 0.7 0.6 0.8 0.7 —
P

“ 414> [0.00004| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | 0.1
- 5+ 000004 mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | N.D. | N.D. | 0.1
#1854 [0.00003 mgL | N.D. | ND. | N.D. | ND. | ND. | ND. | ND. | ND. | ND. [ ND. | ND. | ND. | 01
g = 44> 1000005 mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | 0.1
T4 & (000003 mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | N.D. | N.D. | 0.1
& ;%ﬁ'—ﬂ[m\\ 0.00250 mg/L <0.00250 | <0.00250 | <0.00250 | <0.00250 |<0.00250 | <0.00250 | <0.00250 [<0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 0.1
TR — cm/s | 0.5 — — 0.3 — — 0.4 - — 0.4 — — —
o - B o|os | — - &8 | — - &8 | — — &8 | — — —
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